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Question Number : 26 Question Id : 40503610581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An open beaker of water in equilibrium
with water vapour is in a sealed container.
When a few grams of glucose are added
to the beaker of water, the rate at which
water molecules :

Options :

40503638566. leaves the vapour increases

40503638567. leaves the solubion increases

40503638568, eaves the vapour decreases

40503638569 leaves the solulion decreases

Question Number : 26 Question Id : 40503610581 Question Type : MCQ Option Shuffling : Yes Display Question g
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical . CQ”egedUma%
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Correct Marks : 4 Wrong Marks : 1
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Options :

40503638566, T Pl BIS, el &

40503638567. a0 @

40503638568, ™1 P BT, Wl &

40503638560, 1T = BISH, T ¥

Question Number : 27 Question Id : 40503610582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For the following Assertion and Reason,

the correct op bon 1s

Assertion (A): When Cu (II) and
sulphide ions are mixed,
they react together
extremely quickly to give
a solid.

Reason (R): The equilibrium constant
of Cu’*(aq) +5% (aq)
= CubS(s) is high
because the solubility
product is low.

Options :
Both (A) and (R) are true and (R) is

40503638570, e xplanation for (A).

Both (A) and (R) are true but (R) is

4050363857 1. not the explanation for (A).

40503638572, ) 1 false and (R) is true.

40503638573, Both (A) and (R) are false.

Question Number : 27 Question Id : 40503610582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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TefafEa Y= a9 HIoT & fou 98 fasey

®:

FHIT (A) : 99 Cu (II) T HERBEE AEA
e o € @ 9 3eg Seel |
Afuferan 3 UF 39 59 B

&TOT (R) : Cu’* (ag) +5% (ag) — CuS(s)
w1 ar= frowis 5= 2 =it
Tereraan AT fe E

Options :

(A) 791 (R) T € 91 (A) & a4 (R)

40503638570, eI AT |

(A) 71 (R) S 921 € 7 (R), (A) F
40503638571, 1T Het e & 2 |

40503638572, (M) T € 71 (R) T |

40503638573, (A) T (R) FT =1 Tefd Tl

Question Number : 28 Question Id : 40503610583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the fu:}llcrwf_ng is used for the
preparation of colloids ?

Options :

Mond Process .
40503638574, g collegedunia:
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40503638575, Ostwald Process

40503638576, ¥an Arkel Method

40503638577, Dredig’s Arc Method

Question Number : 28 Question Id : 40503610583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= 5 § F1 Feme F @R 9 5 9
B E?

Options :

40503638574, S AHH

40503638575, Sedres HEHH

40503638576. 3 st fafy

dferg =1 fafg
40503638577.

Question Number : 29 Question Id : 40503610584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If AB4 molecule is a polar molecule, a

possible geometry of AB g 18
Options : chllegeduniaé
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40503638578. Tetrahedral

40503638579, ~quare planar

40503638580, Rectangular planar

Sguare pyramidal
40503638581. 9 Py

Question Number : 29 Question Id : 40503610584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Iz AB, 3] UF &t 0] & d AB, I T
=IfAfd 2

Options :

40503638578. e

40503638579, 1 HAAI

40503638580, T REN

40503638581, 1 THHS

Question Number : 30 Question Id : 40503610585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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The igure that is not a direct manifestation

of the quantum nature of atoms is :

Options :

Intensity wx'uiib 11
of black body| | —_ ™

adiah // \“\\ T‘]
radiation Sy 2 }
40503638582. Wavelength
Rb K
Kinetic Na
energy of
photoelectrons )
Frequency of incident
40503638583, radiation
Internal ,
energy of #’
Ar 300400500 600
40503638584 l'emperature (K)

— Increasing wavelengih

40503638585. Absorption spectrum

Question Number : 30 Question Id : 40503610585 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 Qcollegedunias
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Options :

EaEieal NIy > Ty
a1 |~ 7
dan L
40503638582. T
LIGERET ]| £ i >
sqrafaa farferto
1 sty
40503638583, :
Ar i #_#,f”f
srrdfia L |
— SIU{'J 4IDEI EIUG fmlﬂ{} X
M (K)
40503638584,
—> Fedl gl auTeed
40503638585, SRR AN

Question Number : 31 Question Id : 40503610586 Question Type : MCQ Option Shuffling : Yes Display Question .
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical . CQ”egedUma%
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Correct Marks : 4 Wrong Marks : 1
Which one of the following graphs is

not correct for ideal gas ?

1/T—

111 IV
d= Density, P= Pressure, T = Temperature
Options :
40503638586. 1

40503638587, 11
40503638588, 11

40503638589, 1V

Question Number : 31 Question Id : 40503610586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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o, —»
O, —»

1/T— P—
111 I\
d=99, P= T4, T=19
Options :
40503638586. 1

40503638587, 11
40503638588, 1l

40503638589, IV

Question Number : 32 Question Id : 40503610587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In general, the property (magnitudes only)
that shows an opposite trend in
comparison to other properties across a
period is :
Options :
40503638590, Electronegativity

40503638501, *"tomic radius

40503638592, [onization enthalpy

Electron gain enthalpy
40503638593. :

Question Number : 32 Question Id : 40503610587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AW AR H, o8 U (Fee IREm) S s
e § 3= qoredf F1 g H fauda wafa
A E, 2 :

Options :

40503638592, ST T

40503638593, ST A= € [
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Question Number : 33 Question Id : 40503610588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
While titrating dilute HCI solution with
aqueous NaOH, which of the following will
not be required ?

Options :

40503638594, Burette and porcelain tile

Pipettr_- and distilled water
40503638595.

Bunsen burner and measuring
cvlinder
40503638596. -

C Iamp and phr_-nnlphﬂ'ualein
40503638597.

Question Number : 33 Question Id : 40503610588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1 HCl fae@a 1 S« NaOH % 919
FIAITTA F | 7 | 9 et smavasd
REUREAIE

Options :

'\d. -, ""ﬂﬂ d :
40503638504, e W IRy el
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40503638595, 1 1ie AT ST et

40503638596, 3 1 Ll e et

40503638597, T T I

Question Number : 34 Question Id : 40503610589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The metal mainly used in devising
photoelectric cells is :

Options :
40503638598, Li

40503638599.

40503638600.

40503638601, Cs

Question Number : 34 Question Id : 40503610589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YHTIIIEET e (FRIEseiiags Hed) & 94H |
AT T UM @ :

Options :
40503638598, Li QCO” egedunla
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40503638599, 1Na

40503638600, 1P

40503638601, €S

Question Number : 35 Question Id : 40503610590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
On heating compound (A) gives a gas (B)
which is a constituent of air. This gas when
treated with H, in the presence of a catalyst
gives another gas (C) which is basic in
nature. (A) should not be:

Options :

40503638602, VTaNO>

(NH,),Cr,0,
40503638603. B

40503638604, VAN

Pb(NO.),
40503638605. 32

Question Number : 35 Question Id : 40503610590 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 Q collegedunia:
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AT (A) F T FH W UE 19 (B) 9T S
& W 9 FE UF 9999 ¥ 39 TH F 9=
U I HI IuiEfd § H, % @Y Afaga
oo =T & o U gEd T (C) e et 8
o ypfa a= €1 (A) =1 7 2 =fe ;
Options :

40503638602. et

(NH,),Cr,0,
40503638603. B

40503638604, VAN

Pb(NO,)

[

40503638605.

Question Number : 36 Question Id : 40503610591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For octahedral Mn(II) and tetrahedral Ni(II)

complexes, consider the following
statements :

(I)  both the complexes can be high spin.

(IT) ~ Ni(IT) complex can very rarely be low
spin.

(ITI) with strong field ligands, Mn(II)

co mplexes can be low spin.

(IV) aqueous solution of Mn(II) ions is

yellow in color.
The correct statements are :
Options :

40503638606, (D (1) and (IV) only

40503638607, (- (IT) and (IIT) only

40503638608, 'L (I and (IV) only

40503638609, 1 and (II) only

Question Number : 36 Question Id : 40503610591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ARFARE FHI (I) T SR e

() SFei & ford, Fra wol W Few

Hifaru

()  <Fi HFe 33 FaH 916 & Hohd ¢ |

() e (1) SFa 9gd #9 & 7 7=
= & HFHaT & |

(1) v & femre & wne s (1), Fr
T 1 2 Hehell € |

(IV) FTst (IT) = STl faerme e a1 &1
A E

@W%:

Options :

40503638606, (D (1) T (IV) HEA

40503638607, (D (1D =T (IIT) AT

40503638608, (L), (IIT) 4T (IV) ==

40503638609, (L) T (II) HA

Question Number : 37 Question Id : 40503610592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Consider thata d° metal ion (M *) forms a
complex with aqua ligands, and the spin
only magnetic moment of the complex is
4.90 BM. The geometry and the crystal field

stabilization energy of the complex is :

Options :

40503638610, Octahedraland —244,+2P
40503638611, trahedral and —0.64,
40503638612, ‘PEiRNECIELAn LG By
40503638613. tetrahedral and —1.6A,+1P

Question Number : 37 Question Id : 40503610592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Taar &g & = d° 91g s (M2 1) T
o= F WY UF et =411 € a9 HFA
W= O I AT 4.90 BM €1 g
w1 =Tt ad free 8 T e @
Options :

40503638610, T Papa @ —2.47,+ 2P

40503638611, 19 rarrd T4l —0.64,
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AEHAHE T — 1.6,
40503638612.

TAORASE 91 —1.6A, +1P
40503638613, - X

Question Number : 38 Question Id : 40503610593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The statement that is not true about ozone
IS :
Options :
in the stratosphere, it forms a

protective shield against UV

40503638614, radiation.

in the atmosphere, it is depleted by
40503638615, <1

it is a toxic gas and its reaction with
40503638616, O gives NO,

in the stratosphere, CFCs release

chlorine free radicals (Cl) which

reacts with D:,1 to give chlorine
40503638617, dioxide radicals.

Question Number : 38 Question Id : 40503610593 Question Type : MCQ Option Shuffling : Yes Display Question QCOI le gedu nia:
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=% HYA S AN F AR H wE T G, T

Options :

40503638614

40503638615

40503638616

=AfeER | 98 UV fawm ¥ fa5g
T G A A 2 |

FgHed H, 98 CFCs & B & 2l
%

TE U FEAEl 9 E a4 78 NO F WY
AT FF NO, il T

LAORA H, CFCs TR g el
(C1) Treprera 2 s O, & |1y safufsman
FIF FARA SEAFAEE JoF od & |

40503638617.

Question Number : 39 Question Id : 40503610594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The IUPAC name for the fGIInwing

comp ound

15 :

CHO

H,C~

Options :

.
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2, 5-dimethyl-6-oxo0-hex-3-enoic
40503638618, 2cid

6-formyl-2-methyl-hex-3-enoic
40503638619, 214

2, 5-dimethyl-5-carboxy-hex-3-
40503638620, ©nal

2, 5-dimethyl-6-carboxy-hex-3-

enal
40503638621.

Question Number : 39 Question Id : 40503610594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= = & few TUPAC A 2
CHO
.--'l e -~ CH3
He o T T
COOH
Options :

2, 5-SEHIIA-6-AFH-EFI-3-T15F
40503638618, SITE

6~ He-2- A9 -gaH-3-312% Ufae

40503638619.
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40503638620.

40503638621, > 2~ STEHTIE-6-FTaller - g -3

2, 5-EEH -5 FHE - ga-3-37d

Question Number : 40 Question Id : 40503610595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

In Carius method of estimation of halogen,
0.172 g of an organic compound showed
presence of (.08 g of bromine. Which of

these is the correct structure of the

compound ?

Options :

40503638622. Br

NH,
Br
40503638623.
40503638624, 3¢ Br

.
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H.C—-CH,—Br
40503638625. - =

Question Number : 40 Question Id : 40503610595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gdreM & AT & Hied fafg §, uw
FE % ATE F0.172 g, 0.08 g AHA I
Iufeafa wefefa fan | fre & & 9 =t =@
T HF & 7

Options :

40503638622, Br

40503638623.

40503638624, 3¢ Br

H.C—CH,—Br
40503638625. - =

Qcollegedunim
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The major product in the following reaction

1S :

H;C . CH=CH, i
S H4;0

! E——
Heat

Options :

[0
40503638626. CHj
L
40503638627.
jJH
HsC |
// ﬂ{ CHS
40503638628. "
CH;
z'/ -, {:-"
40503638629. CHj,

Question Number : 41 Question Id : 40503610596 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Q collegeduni s
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Correct Marks : 4 Wrong Marks : 1
o arfuferan & g seae 2
H,C. _CH=CH,

S

. +
N H,0
o
Options :
[ ]
CH
40503638626. 3
H,C  CH,
40503638627.
j)H
H,C. |
AN U
40503638628. \
CHs
1:_,-" \-\II}:.I {z
40503638629, CH;

Question Number : 42 Question Id : 40503610597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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The increasing order of the follﬂwing

compounds towards HCN addition is:

HyCO. . - CHO i| CHO
(1) (i)
,ﬂ| At ON.__~_-CHO
Mo, @
(i) (iv)

Options :
i) < (iv) < (i) < (i1
40503638630, (1) < (iv) < (i) < (i)

40503638631, (1) < (1) < (iv) < (i)

40503638632, O < (i) < (iv) < (ii)

40503638633, 1) < (iv) < (if) < (i)

Question Number : 42 Question Id : 40503610597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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=1 AfireRt =1 HON % S 9fa ==al %4
¥

H3CC}\{_:_?_H a0 CHO
= ,ﬂ P Sy NO,
() (ii)
rhﬂ S ON-_~._-CHO
(i) (i)

Options :
40503638630, 1) < (V) < (i) < (i)

40503638631, (1) < () < (iv) < (ii)

40503638632, ) < (i) < (iv) < (ii)

40503638633, W) < (iv) < (if) < (i)

Question Number : 43 Question Id : 40503610598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The major aromatic product C in the

following reaction sequence will be :

N HBr
ay rbm (excess), h (i) KOH (Alc.) R
e A (i) H
O,
+ > C
Z]"l /} HSO
Options :
LH'IH'“M Br
O
S
i CHO
40503638634.
e W Br
G
e CDEH-
40503638635.
-__OH
O
i
40503638636. £Ho
____OH
[‘i ) _co.H
40503638637. 2

Question Number : 43 Question Id : 40503610598 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical .
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T srfafsran ok § 9= Wils 3.

C -
e
,f‘;'ﬁ“‘:[f ~. HBr, A (i) KOH (Alc.)
xﬂmi N A {ii] Ht
O
3+ . C
Zn/H;0
Options :
LH-M" > Br
@,
~" CHO
40503638634.
s BT

40503638635

L

O
ssoae3sezs.  CHO

- UH
40503638637. [I“ij” o COoH

Question Number : 44 Question Id : 40503610599 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical g collegeduniag
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Correct Marks : 4 Wrong Marks : 1

Which of the follnwing compf}unds will
show retention in cnnfiguratmn on

Imcleophic substitution 11}-' OH ion?

Options :
CH;—CH—Br
|
CeHe
40503638638.
Br
|
CH,—C—H
|
C.H
40503638639. 613
CH;—CH—CH,Br
|
40503638640. Cakis
CH;—CH—Br
|
CH,
40503638641.

Question Number : 44 Question Id : 40503610599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=1 5 | -1 91 OH -~ 5T AT &iel
gfgrem W fa=mg § umo wefyig #om?
Options :
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CII3—(|fII—Br

CeHs
40503638638, :
Br
|
CH,-C—H
|
C.H
40503638639. 613

CH;—CH—CH,Br
|

40503638640. C2Hs
CH;—CH—Br
|
CH,4
40503638641. :

Question Number : 45 Question Id : 40503610600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Consider the following reactions :

(i) Glucose+ROH _ diyHO _ Acetal

x eq. of e
(C,c0),0 ~ acetyl derivative

(i) Glucose

Ni/H, iy eq. of
y A > g
(@1,co),0 ~ acetyl

derivative

z eq. of

(iii) Glucose (CHAC0).0 acetyl
derivative

& r

x’, “y" and ‘z" in these reactions are

respectively.
Options :
40503638642. 4,5&5

40503638643, 6 &5

40503638644, - 4& 5

40503638645, > 0 &3

Question Number : 45 Question Id : 40503610600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

.
&collegedumas
India’s largest Student Review Platform

~



= srfaferanesl @ fa=m +ifau
() TEFEEROH — TP HC |t

(CH,CO),0O

&l x eq. CIES =

P -~ Ni/H, (CHACOY0
'] rg ;ﬂi 7
(i) TeI HTy eq.

~  {CHiCORLO . ~ o

(i) TTPE gy e > UHITeA Fea=
W AfYtESAl § v,y T4 ‘2 HE
€l

Options :

40503638642. TN

40503638643, %6 TS

40503638644, 23 TS

40503638645, 220 TS

Sub-Section Number : 2
Sub-Section Id : 405036734
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503610601 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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The internal energy change (in ]J) when
90 g of water undergoes complete
evaporation at 100°C is ;
(Given : ﬁHm}E for water at 373 K=41k]J/

mol, R=8.314 JK~1 mol~ 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 46 Question Id : 40503610601 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

9 90 g T T 100°C W YUiEY § eI
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The Gibbs energy change (in ) for the given
reaction at [Cu”*]=[Sn"*]=1 M and 298
Kis:

CLI{H}+5H2+{HLI_} — Cu2+{aq_]+5n (s);
(E° =-016V,E? ,
Cu?

Sn3+| Sn Tl

=034 V,

Cu

Take F=96500 C mol ~ 1)
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The mass of gas adsorbed, x, per unit mass
of adsorbate, m, was measured at various
s
pressures, p. A graph between log— and
i

log p gives a straight line with slope equal
to 2 and the intercept equal to 0.4771. The

X
value of — ata pressureof4 atmis: (Given
nt

log 3=0.4771)
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The oxidation states of iron atoms in

compounds (A), (B) and (C), respectively,

are x, ¥ and z. The sum of x, y and z is

Na,[Fe(CN)5(NOS)]  Nay[FeO,] [Fe,(CO)q]
(A) (B) (C)
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The number of chiral carbons presentin the

molecule given below is

H & -
H;C 7 | 1 *j CH,
HO N
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